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car | 1 | 2 3 4 5 6 7 8 9 | 10

Y [16/21|26 3642|4349 |55|50]6.2

X 13040 | 40 | 50 | 50 | 60 | 70 | 80 | 80 | 90

Predictor Coef StDev T P
Constant -0.2371 0.4407 -0.54 0.605

X 0.07181 0.00710 (a) (b)
Analysis of Variance

Source DF SS MS F P
Regression 19.031 19.031 102.3 0.000
Error (c) (d) 0.186

Total (e) (f)

O im0 26 (@)~(f) - (15 4 )
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STANDARD NORMAL TABLE (2)

Entries in the table give the area under the curve
between the mean and z standard devialions above
the mean. For example. for 2 = 1.25 the area under
the curve between the mean (0) and z is 0.3944.

I o000 o001 002 o003 o004 005] o008 007 008 0.09

0.0 0.0000 0.0040 00080 00120 0.0160 00180 00239 00279 00319 0.0359

0.1 | 00398 0.0438 0.0478 00517 0.0557 0.0506 00636 O0.0675 0.0714 0.0753
02| 00793 0.0832 00871 0.0010 0.0948 0.0987 0.1026 0.1064 0.1103 0.1141
03 01179 0.1217 0.1255 0.1293 0.1331 0.1368 01406 0.1443 0.1480 0.1517
04 0.1884 0.1501 0.1628 0.1664 0.1700 0.1736 01772 0.1808 0.1844 0.1879

0.5 0.1915 0.1950 0.1985 02019 0.2054 0.2088 02123 02157 0.2190 0.2224

0.6 02257 02201 02324 02357 0.2380 0.2422 02454 02486 0.2517 0.2549

0.7 | 0.2580 0.2611 02642 0.2673 0.2704 02734 02764 02794 0.2823 0.2852

0.8| 02881 0.2910 02939 02969 02995 0.3023 03051 03078 03108 0.3133

0.9 03150 0.3186 03212 03238 0.3264 0.3280 03315 03340 0.3365 0.3380

1.0 03413 03438 03461 0.3485 0.3508 0.3513 0.3554 03577 0.3529 0.3621

11 03843 023865 03886 03708 03729 03749 03770 03790 0.3810 0.3830

1.2 ] 0.3840 03860 03888 023007 03025 0.3044 030662 03680 0.3007 0.40158

1.3 | 0.4032 0.4040 04066 04082 0.4099 04115 04131 04147 04162 0.4177
________________ 14 04192 04207 04222 04236 04251 04265 04279 04292 04306 0.4319
15| 04332 0.4345 04357 04370 0.4382 0.4304 04406 04418 0.4420 0.4441

18| 04452 04463 04474 04484 04495 04505 04515 04525 0.4535 0.4545
1.7 | 0.4554 0.4564 04573 04582 04591 04509 04608 04616 0.4625 0.4633
18| 04641 04649 04656 04664 04671 04678 04686 04693 0.4699 0.4706

1.9 04713 04719 04726 04732 04738 04744 04750 04756 04761 0.4767

20! 04772 04778 04783 0.4788 0.4793 0.4798 0.4803 0.4808 0.4812 0.4817
..................... 21| 04821 04826 04830 04834 04838 04842 04846 04850 04854 0.4857
22 0.4861 04864 04868 04871 04875 04878 04881 04884 04887 0.4800

23 04893 04896 04898 04901 04904 04908 04909 04911 04913 0.4916

24| 04918 04920 04922 04925 04927 04929 04931 04932 04934 0.4938

25| 04038 0.4040 04941 04943 04045 0.4946 04048 04949 04951 0.4052

26| 04953 0.4955 04956 04957 04959 0.4960 04961 04962 04963 0.4964

27| 04965 04066 049687 04968 04960 04970 04971 04972 04973 0.4974

2.8 04974 04975 04976 04977 04977 04978 04979 04979 04980 0.4981

29 04981 04982 04982 04983 04984 04984 04085 04985 04986 04988

3.0 | 0.4987 0.4987 0.4987 04988 0.4988 04980 04080 04980 0.4990 0.4990

3.1 04990 04091 04991 04991 04902 04902 04002 040602 04903 0.4903

3.2 04993 0.4993 04904 04994 04994 0.4904 04994 04995 0.4995 0.4995
33 04995 04995 04995 04996 04996 04996 04996 04996 0.4996 0.4997
3.4 04997 0.4997 04997 04997 0.4997 0.4997 04997 04997 0.4997 0.4998
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P( F>Fa)=a =
0 Fa
vy(d.f.) a=0.05
va(d.f) 1 2 3 4 [; 6 7 8 9
1 161.45 199.50 215.71 224.58 230.16 233.99 236.77 238.88 240.54
2 1851 19.00 19.16 19.25 1930 1933 19.35 1937 1938
3 1013 955 928 912 901 894 889 885 881
4 771 694 659 639 626 616 609 604 600
5 661 579 S41 519 505 495 488 482 477
6 599 514 476 453 439 428 421 415 410
7 559 474 435 412 397 387 379 373 368
8 532 446 407 384 369 358 3.50 344 339
9 5102 426 386 363 348 337 329 323 3.8
10 496 400 371 348 333 322 314 307 3.02
7] 484 398 359 336 320 309 301 295 290
12 475 389 349 326 3.1 300 291 285 280
13 467 381 341 318 303 292 28 277 271
14 460 374 334 311 296 28 276 270 265
15 454 368 329 306 290 279 271 264 259
16 449 363 324 301 285 274 266 259 254
17 445 359 320 296 281 270 261 255 249
18 441 355 306 293 277 266 258 251 246
19 438 352 313 290 274 263 254 248 242
20 435 349 310 287 271 260 251 245 239
21 432 347 307 284 268 257 249 242 237
2 430 344 305 28 266 255 246 240 234
23 428 342 303 280 264 253 244 237 232
24 426 340 301 278 262 251 242 236 230
25 424 339 299 276 260 249 240 234 2.28
26 423 337 298 274 259 247 239 232 227
27 421 335 296 273 257 246 237 231 225
28 420 334 295 271 256 245 236 229 224
29 418 333 293 270 255 243 235 228 222
30 4.17 332 292 269 253 242 233 227 221
40 408 323 284 261 245 234 225 218 212
60 400 315 276 253 237 225 217 210 204

120 392 3.07 268 245 229 218 209 202 196
- 384 300 260 237 221 210 201 194 1.88




